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All Candidates' performance across questions

Question Title

Mean

SD Max Mark

FF

Attempt %

1a

2757

2.9

1.3

58.8

99.7

Question

40 50 60
Facility Factor %

70

80

90 100



Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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WJEC GCE AS SOCIOLOGY - UNIT 2
UNDERSTANDING SOCIETY AND METHODS OF SOCIOLOGICAL ENQUIRY
SUMMER 2018 MARK SCHEME

Section A

Read the following item and answer each part of the following question.

Compulsory question

Perceptions of the nature of urban street gangs 2016

Following UK government initiatives in 2011 to tackle youth violence in street gangs, Disley and
Liddle researched whether the gangs have changed as a result of these initiatives. To gain
gualitative insights 30 people associated with gang life were interviewed in-depth, including
current or ex-gang members.

The data from the interviews contained quotations, enhancing the validity of the data. One
gang member described his initiation into the gang as the ‘most painful experience of his life’.
However, there were mixed accounts of gang life, making it difficult to generalise findings.
Perhaps more valid insights may be gained if researchers joined a gang, adopting covert or
overt methods of participant observation, however this may generate problems such as ethical
issues.

Adapted from: Emma Disley, Mark Liddle January (2016): Local perspectives in Ending Gang
and Youth Violence Areas

Answer each part of the following question.

1. @) Using material from the item and sociological knowledge, explain the meaning of
the term validity. [5]

Answers should include accurate knowledge points for band 3 AO1. Points
should be supported with examples and/or evidence. For band 3 AO2 a clear
explanation of the examples/evidence should be present.

Indicative content

o A definition of the term.

e Research methods that generate valid data: in-depth interviews, semi-
structured interviews, participant observation, personal diaries, letters etc.
Valid data reflects the reality of the person/group being studied etc.

Valid data can provide an insight into what a group does, thinks or feels.
Qualitative data is more likely to be valid.

Favoured by interpretivists who wish to establish the meanings that people
attach to their actions.

Reference will be made to the Item.

Any other relevant point.
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Band AO1 AO2
elements 2a & 2b element 1b
3 marks 2 marks
Answers demonstrate detailed Answers demonstrate accurate and relevant
knowledge and understanding of selection of appropriate sociological
sociological theories/ concepts/evidence/research
3 theories/concepts/evidence relating to | methods. These are applied and interpreted
the context of the debate/question as | in the context of the debate/question.
applied to research methods Reference will be made to the item to show
the ability to select appropriate examples.
2 marks 1 mark
Answers demonstrate some Answers demonstrate some ability to select,
knowledge and understanding of apply and interpret appropriate sociological
2 sociological theories/concepts/evidence/research
theories/concepts/evidence relating to | methods in the context of the
the context of the debate/question as | debate/question.
applied to research methods.
1 mark
Answers demonstrate basic
knowledge and understanding of
1 sociological
theories/concepts/evidence relating to
the context of the debate/question as
applied to research methods.
0 marks 0 marks
NRSP NRSP
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(b)

© WJEC CBAC Ltd.

Using material from the item and sociological knowledge, explain two possible
reasons why sociologists choose to use in-depth interviews in social research.

[10]

There should be two reasons for AO1 band 3. These reasons can be
theoretical, practical or methodological and must contain technical language.
For AO2 band 3 the reasons must be contextualised and explained with
reference to methodological issues.

Indicative content

Understanding of the concept in-depth interviews: generate mainly
gualitative, some quantitative data.

In-depth interviews may be valuable to sociologists on their own or used in
combination with other primary sources such as the survey in the Item.

The interviews can take place in the interviewees’ natural environment where
they may feel more at ease and more likely to discuss topics in detail.
Flexibility: the interviewer is not restricted with set questions.

The data collected can be transcribed and expressed in words, providing
descriptive insights into the people being studied.

In-depth interviews allow those being studied to ‘speak for themselves’, they
are not constrained by set questions.

Through the interview the researcher can explore the meanings the people
being studied give to actions and life in general.

As the interview takes place over a longer period of time, the interviewer can
develop empathy and vestehen with those being researched.

Sensitive issues can be discussed as trust is built up.

The interviewer can access non-verbal-communication in the interviewee’s
presentation of self.

Data more valid than quantitative methods.

Reference will be made to the item.

Any other relevant point.





Band AO1 AO2
elements 2a & 2b element 1b
5-6 marks 4 marks
Answers demonstrate detailed | Answers demonstrate a detailed
knowledge and understanding | ability to select, apply and interpret
of sociological theories/ appropriate sociological theories/
3 concepts/evidence relating to concepts/evidence in the context of
the context of the the debate/question.
debate/question.
There will be appropriate use made
of the item to demonstrate
understanding.

3-4 marks 2-3 marks

Answers demonstrate some Answers demonstrate some ability to

knowledge and understanding | select, apply and interpret

of sociological theories/ appropriate sociological theories/

2 concepts/evidence relating to concepts/evidence in the context of
the context of the the debate/question.
debate/question.

Some reference will be made to the
item.
1-2 marks 1 mark
Answers demonstrate basic Answers demonstrate a basic ability
knowledge and understanding | to select, apply and interpret

1 of sociological theories/ appropriate sociological theories/
concepts/evidence relating to concepts/evidence in the context of
the context of the the debate/question.
debate/question.

0 marks 0 marks
NRSP NRSP
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(9] With reference to the item and sociological studies, discuss the strengths and
weaknesses of participant observation. [20]

Answers should demonstrate the ability to make sense of sociological debates,
offer sociological examples and explain sociological concepts. Answers need to
use key terminology. Credit will be given to effective discussion where there is
evidence of detailed and wide ranging knowledge. Where answers demonstrate
all abilities to the highest standard, then they will be consistent with band 4.
However answers demonstrating knowledge but fewer skills of interpretation and
discussion may achieve band 4 for AO1 but lower bands for AO2 and AO3.

Indicative content

e There should be understanding that each method has strengths and
weaknesses.

e Participant observation, ethnographic research: researcher able to immerse

themselves in the group and see social life form the same perspective as the

group.

Advantages of overt and/or covert participant observation.

Ideal method to study hard-to-reach groups; as in the Item.

The more ‘natural’ settings help generate more valid data.

Interpretivists favour participant observation, Weber.

Qualitative data which provides insight.

Can reveal attitudes or behaviours, research might not otherwise have

thought of asking; Foote-Whyte.

¢ Close bond that develops provides opportunities for those being research to
‘open -up; enhancing validity.

e More than a ‘snap shot’ of social life.

e Opportunity to gain further insights through non-verbal communication.

¢ There may be reference to disadvantages of participant observation; such as
lack of reliability, difficulty in measuring the data, researcher bias, the
Hawthorne effect, little quantitative data, ethical issues, difficulties in
generating comparative data, complexity of analysis, time issues.

o Reference will be made to the item.

e There should be reference to sociological studies used to illustrate the points
made such as Barker, Foote-Whyte, Nayak, Patrick or any study that
provides appropriate examples of participant observation.

e Any other relevant point.
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Band AO1 AO2 AO3
elements 1la & 1b element 1a strands 1-3
8-9 marks 5 marks 6 marks
Answers demonstrate Answers demonstrate Answers demonstrate
detailed knowledge and accurate and relevant detailed, well organised
understanding of selection of appropriate and logical arguments.

4 sociological theories/ sociological theories/ Logical judgements and
concepts/evidence relating concepts/evidence. These conclusions will be
to the context of the are applied and interpreted in | offered based on explicit
debate/question. the context of the evaluation of the relevant

debate/question. theories/ concepts/
evidence examined.
5-7 marks 3-4 marks 4-5 marks
Answers demonstrate some | Answers demonstrate some | Answers demonstrate
knowledge and accurate and relevant some, well organised
understanding of selection of appropriate and logical arguments.
sociological theories/ sociological Judgements and

3 , . . . . .
concepts/evidence relating theories/concepts/evidence. conclusions offered will
to the context of the Some of which are applied show some evaluation of
debate/question. and interpreted in the context | the relevant theories/

of the debate/question. concepts/evidence
examined.
2-4 marks 2 marks 2-3 marks
Answers demonstrate basic | Answers demonstrate a basic | Answers demonstrate
knowledge and ability to select, apply and basic arguments.

5 understanding of interpret appropriate Judgements and
sociological theories/ sociological conclusions offered will
concepts/evidence relating theories/concepts/ evidence show basic evaluation of
to the context of the in the context of the the theories/concepts/
debate/question. debate/question. evidence examined.

1 mark 1 mark 1 mark
Answers demonstrate Answers demonstrate limited | Answers demonstrate
limited knowledge and ability to select and/or limited argument. Any

1 understanding of interpret and/ or apply judgements and

sociological theories/
concepts/evidence relating
to the context of the

sociological
theories/concepts/evidence in
the context of the

conclusions offered will
show limited evaluation
of any theories/concepts/

debate/question. debate/question. evidence examined.
0 marks 0 marks 0 marks
NRSP NRSP NRSP
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Sticky Note

The candidate demonstrates an excellent understanding of validity providing a definition plus two further points (AO1).
The candidate interprets the item appropriately and includes a further example AO2.



Sticky Note

3+2 = 5



Sticky Note

Reference to item AO2



Sticky Note

Relevant concept AO1



Sticky Note

Relevant study, AO1



Sticky Note

The first reason is clear and contextualised
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Sticky Note

The answer is less precise, for example there is a confusion between reliability and validity. 



Sticky Note

Reason one is strong, reason two is less accurate.
Within the answer the candidate refers  to the Item plus relevant studies.



Sticky Note

4+3=7



Sticky Note

Relevant concepts



Sticky Note

Some imprecision
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Sticky Note

To help ensure sustained evaluation and higher marks,  candidates might avoid listing advantages and then disadvantages.



Sticky Note

AO1 To avoid a lack of precision, candidates might avoid referring to validity and reliability in the same sentence. 



Sticky Note

Study not developed
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Sticky Note

Good evaluative tone.



Sticky Note

The candidate demonstrates sound knowledge and understanding of the strengths of participant observation.
Reference to the Item is underdeveloped, although there is  reference to relevant studies.
The evaluative points are not always precise.



Sticky Note

6+3+4=13
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Sticky Note

The candidate has accurately defined validity and made two further relevant points (AO1)




Sticky Note

Reference to the item is less developed (AO2)



Sticky Note

3+1=4



Sticky Note

Reason one lacks focus
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Sticky Note

Reason two is quite basic and lacks development 
The candidate has not made a clear reference to the item or a study (AO2)



Sticky Note

2+1=3



Sticky Note

 Concept plus example



Sticky Note

Straying away from participant observation.
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Sticky Note

Evaluative point less developed (AO3)



Sticky Note

Example



Sticky Note

The candidate has included relevant concepts and includes two main strengths of participant observation.
Reference is made to the item.
There is a range of evaluation, but less detail.
There is a missed opportunity to include further strengths of the method and references to sociological studies that have used participant observation.
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4+2+4=10
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Sticky Note

The candidate has included a definition plus two further relevant points (AO1)



Sticky Note

Reference to the item is developed (AO2)



Sticky Note

3+2=5



Sticky Note

The introduction to reason one initially  less focused.
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Sticky Note

Focused from the start



Sticky Note

Relevant reference to the item (AO2)



Sticky Note

Reason two more detailed and focused. Also reason two contains reference to the item



Sticky Note

4+3=7
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Sticky Note

Accurate definition AO1



Sticky Note

Relevant reference to the item



Sticky Note

The candidate is setting up a clear debate (AO3)



Sticky Note

Developed strength of method.
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Sticky Note

Strength  clearly explained.



Sticky Note

Relevant study selected (AO2)



Sticky Note

Range of evaluative points
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Sticky Note

The candidate demonstrates a clear understanding and detailed knowledge of the method (AO1)
The candidate makes relevant interpretations of the item plus studies (AO2)
Evaluation is focused and developed (AO3)



Sticky Note

8+5+6=19










SECTION A

Read the following item and answer each part of the question.

Compulsory question

Perceptions of the nature of urban street gangs 2016

Following UK government initiatives in 2011 to tackle youth violence in street gangs, Disley and
Liddle researched whether the gangs have changed as a result of these initiatives. To gain qualitative
insights 30 people associated with gang life were interviewed in-depth, including current or ex-gang
members.

The data from the interviews contained quotations, enhancing the validity of the data. One gang
member described his initiation into the gang as the ‘most painful experience of his life’. However,
there were mixed accounts of gang life, making it difficult to generalise findings. Perhaps more valid
insights may be gained if researchers joined a gang, adopting covert or overt methods of participant
observation, however this may generate problems such as ethical issues.

Adapted from: Emma Disley, Mark Liddle January (2016): Local perspectives in Ending Gang
and Youth Violence Areas

Answer each part of the following question.

1. (@) Using material from the item and sociological knowledge, explain the meaning of the term
validity. (3]

(b) Using material from the item and sociological knowledge, explain two possible reasons
why sociologists choose to use in-depth interviews in social research. [10]

(c) With reference to the item and sociological studies, discuss the strengths and weaknesses
of participant observation. [20]
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Section B
Answer one of the following options

Option 1 Education
Compulsory question

2. @) Study the following item and answer both parts of question 2 (a).
0] Summarise the content of the graph showing the relationship between
children eligible for free school meals and level 2 educational
achievement in English/Welsh and Maths at key stage 4. [10]

Answers should include accurate points for band 3 AO1 which should be
supported with data from the chart. For band 3 AO2 a clear interpretation
of the data should be present.

Indicative content

o Expect to see reference to a range of points relating to level 2
educational attainment in English/Welsh and Maths for pupils eligible
for free school meals (FSMs) and those not entitled to FSM at key
stage 4.

e In 2009 20.1% of pupils eligible for FSM achieved level 2 in
English/Welsh and Maths compared to 52.1% of pupils not entitled to
FSM; this is a gap of 32 percentage points.

e 1In 2016 35.6% of pupils eligible for FSM achieved level 2 in
English/Welsh and Maths compared to 66.8% of all other pupils; this
is a gap of 31.2 percentage points.

e |n 2009 20.1% of pupils eligible for FSM achieved level 2 in
English/Welsh and Maths compared to 35.6% in 2016. This is an
increase of 15.5 percentage points.

e In 2009 52.1% of pupils not eligible for FSM achieved level 2 in
English/Welsh and Maths compared to 66.8% in 2016. This is an
increase of 14.7 percentage points. A similar percentage point
increase to those receiving FSM.

e Points made should be supported by accurate statistics drawn from
the data.

e Any other relevant point.

© WJEC CBAC Ltd. 8





Band AO1 AO2
elements 1la & 1b element l1a

5-6 marks 4 marks
Answers demonstrate detailed Answers demonstrate a detailed ability to
knowledge and understanding of | select, apply and interpret appropriate

3 sociological theories/ concepts/ sociological theories/ concepts/ evidence
evidence relating to the context of | in the context of the debate/question.
the debate/question. There will be appropriate use made of

the item to demonstrate understanding.

3-4 marks 2-3 marks
Answers demonstrate some Answers demonstrate some ability to
knowledge and understanding of | select, apply and interpret appropriate

2 sociological theories/ concepts/ sociological theories/ concepts/ evidence
evidence relating to the context of | in the context of the debate/question.
the debate/question. Some reference will be made to the item.
1-2 marks 1 mark
Answers demonstrate basic Answers demonstrate a basic ability to
knowledge and understanding of | select, apply and interpret appropriate

1 sociological theories/ sociological theories/ concepts/ evidence
concepts/evidence relating to the | in the context of the debate/question.
context of the debate/question.
0 marks 0 marks
NRSP NRSP

© WJEC CBAC Ltd.






(i) Explain two sociological reasons for the relationship between free school
meals and educational achievement. [15]

There should be two sociological reasons with effective use of
sociological language (AO1 band 4). Both reasons will be supported by
sociological evidence (AO2 band 4). Two reasons for the same
pattern/trend are acceptable.

Indicative content

There should be two different reasons (which may be linked to the data in

the graph) such as:

e Attainment of different groups, for example children eligible for FSM
(disadvantaged) and more advantaged pupils.

e Material deprivation, emphasised by Marxists and the social
democratic perspective; Smith and Noble, Reay, Universities UK
study 2005.

e Cultural deprivation, emphasised by Functionalism and the New
Right; Douglas, Hyman, Marsland, Murray, Phillips.

e Parental interest: Douglas, Feinstein, Chowdry.

e Language codes, restricted associated with disadvantaged working
class and elaborate associated with advantaged middle class pupils -
the elaborate code dominates learning ; Bernstein.

e Cultural capital, emphasised by neo-Marxists; Bourdieu, Ball, Power,
also Sullivan.

e Teacher expectations of disadvantaged working class compared to
advantaged white middle class pupils; Becker.

e Teacher labelling, stereotyping, the ideal pupil and the notion of the
self-fulfilling-prophecy emphasised by interactionists; Becker, Ball,
Dunne and Gazeley, Gillborn and Youdell.

o Reference should be made to appropriate empirical evidence and/or
examples.

e Any other relevant point.

© WJEC CBAC Ltd. 10





Band AO1 AO2
elements la & 1b element la

9-10 marks 5 marks
Answers demonstrate detailed Answers demonstrate a detailed ability to
knowledge and understanding of select, apply and interpret appropriate

4 sociological theories/ concepts/ evidence | sociological theories/ concepts/ evidence in the
relating to the context of the context of the debate/question.
debate/question.
6-8 marks 3-4 marks
Answers demonstrate some knowledge Answers demonstrate some ability to select,
and understanding of sociological apply and interpret appropriate sociological

3 : ) . . . .
theories/ concepts/ evidence relating to theories/ concepts/ evidence in the context of
the context of the debate/question. the debate/question.
3-5 marks 2 marks
Answers demonstrate basic knowledge Answers demonstrate a basic ability to select,
and understanding of sociological apply and interpret appropriate sociological

2 : . ) . ' )
theories/ concepts/evidence relating to theories/ concepts/ evidence in the context of
the context of the debate/question. the debate/question.
1-2 marks 1 mark
Answers demonstrate limited knowledge | Answers demonstrate limited ability to select

1 and understanding of sociological and/or interpret and/ or apply sociological

theories/ concepts/ evidence relating to
the context of the debate/question.

theories/ concepts/ evidence in the context of
the debate/question.

0 marks
NRSP

0 marks
NRSP

© WJEC CBAC Ltd.
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2, (b)

© WJEC CBAC Ltd.

Discuss the view that education effectively prepares young people for the workplace.

[30]
Answers will make judgements on the worth of concepts, theory, or sociological
debate. The answer will focus on the debate in the question. Credit will be given to
the effective use of supporting sociological evidence/theories and concepts. Where
answers demonstrate all abilities to the highest standard then they will be consistent
with band 4. However answers demonstrating knowledge but fewer skills of
assessment, judgement and evaluation may achieve band 4 for AO1 but lower
bands for AO2 and AO3.

Indicative content

e Candidates who focus on ’effective’ preparation may contextualize their answer
within Functionalist and/or New Right views; Durkheim, Parsons, Davis and
Moore, Murray.

The focus may be on schools and/or colleges.

e Functionalist explanations of the role of schools in preparing young people for
work; Durkheim, Parsons, Davis and Moore.

e The bridge between school and work; Parsons.

Link between secondary socialisation in schools, the acquisition of knowledge,
values and skills and the needs of the workplace, for example cultural values
such as achievement, competition, equality of opportunity, skills such as literacy
and numeracy: Functionalism and New Right

¢ Role allocation, sifting and sorting, transferable skills and a meritocracy; Davis
and Moore, Parsons.

¢ Role of the formal and the hidden curriculum.

e Vocationalism; and New Right views echo functionalist ideas; Murray, Chubb
and Moe.

e Educational policy relating to 14-19 year olds since 1988 designed to prepare
young people for the workplace, for example vocational GCSEs, in Wales since
September 2015 key stage four pupils’ in state schools study the Welsh
Baccalaureate - includes skills transferable to the work place and work
experience.

o New Labour’ social democratic views on educational initiatives aimed at
preparing young people for the workplace: the expansion of higher education
1997-2010 based on the idea that the UK could only compete in a global
economy if it had a highly skilled workforce; Holland.

]

Candidates may discuss the view that education does not effectively prepare young

people for the workplace.

o Weaknesses of functionalist theories and concepts.

e Crique of notion of effective role allocation; Bowles and Gintis.

e Problematic nature of concepts such as 'meritocracy'; Gorard, Gerwitz.

e Marxist critiques of functionalism which may refer to the correspondence

principal, cultural capital, and inequality of opportunity; Bowles and Gintis,

Bourdieu, Gillies.

Marxist critiques of policies designed to prepare young people for work; Finn.

Schools fail to prepare working class boys for the workplace; Willis.

The notion of de-schooling society; lllich.

Feminist critiques with a focus on whether schools effectively prepare young

girls for work, patriarchal messages in the curriculum; Francis, Archer.

e Unguestioning faith in the economic benefit of education has led to wasteful
government spending, the UK is ‘over educating’ young people, no clear
correlation between extra qualifications and economic competitiveness; Wolf.

e Ideas should be compared and evaluated with reference to supporting evidence.

e Any other relevant point.
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Band AO1 AO2 AO3
elements 1la & 1b element 1a strands 1-3
11-13 marks 5 marks 10-12 marks
Answers demonstrate detailed | Answers demonstrate Answers demonstrate
knowledge and understanding | accurate and relevant detailed, well organised
of sociological theories/ selection of appropriate and logical arguments.

4 concepts/evidence relating to | sociological theories/ Logical judgements and
the context of the concepts/evidence. These conclusions will be offered
debate/question. are applied and interpreted in | based on explicit

the context of the evaluation of the relevant
debate/question. theories/concepts/
evidence examined.
7-10 marks 3-4 marks 7-9 marks
Answers demonstrate some Answers demonstrate some | Answers demonstrate
knowledge and understanding | accurate and relevant some, well organised and
of sociological theories/ selection of appropriate logical arguments.
concepts/evidence relating to | sociological theories/ Judgements and

3 , . .
the context of the concepts/evidence. Some of | conclusions offered will
debate/question. which are applied and show some evaluation of

interpreted in the context of the relevant theories/
the debate/question. concepts/evidence
examined.
4-6 marks 2 marks 4-6 marks
Answers demonstrate basic Answers demonstrate a basic | Answers demonstrate
knowledge and understanding | ability to select, apply and basic arguments.

2 of sociological theories/ interpret appropriate Judgements and
concepts/evidence relating to | sociological theories/ conclusions offered will
the context of the concepts/evidence in the show basic evaluation of
debate/question. context of the the theories/concepts/

debate/question. evidence examined.
1-3 marks 1 mark 1-3 marks
Answers demonstrate limited | Answers demonstrate limited | Answers demonstrate
knowledge and understanding | ability to select and/or limited argument. Any

1 of sociological theories/ interpret and/or apply judgements and

concepts/evidence relating to
the context of the
debate/question.

sociological theories/
concepts/evidence in the
context of the

conclusions offered will
show limited evaluation of
any theories/concepts/

debate/question. evidence examined.
0 marks 0 marks 0 marks
NRSP NRSP NRSP

© WJEC CBAC Ltd.
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Assess the impact of cultural factors on achievement in education. [30]

Answers will make judgements on the worth of concepts, theory, or sociological
debate. The answer will focus on the debate in the question. Credit will be given
to the effective use of supporting sociological evidence/theories and concepts.
Where answers demonstrate all abilities to the highest standard then they will be
consistent with band 4. However answers demonstrating knowledge but fewer
skills of assessment, judgement and evaluation may achieve band 4 for AO1 but
lower bands for AO2 and AO3.

Indicative content

Candidates may consider social class and/or ethnicity and/or gender patterns
of attainment.

There should be a clear understanding of patterns of achievement amongst
different groups; DfES/DCELS statistics, Estyn reports.

Welsh-medium education statistics and data may be considered.

Cultural deprivation, focussing on the home background and parental
support; Douglas, Feinstein, Gaine and George, Sewell.

Parental aspirations: White working class families often least aspirational;
this group is now the most likely to underachieve; Strand, Sutton Trust.
Among different ethnic groups parental aspirations more important than
social class; e.g. Chinese parents often aspirational, Chinese children are
the highest achieving group in Britain; Archer and Francis.

Issues of cultural capital; Bourdieu, Ball.

Issues of language, restricted and elaborated codes; Bernstein.
Alternatively, candidates may consider the view that cultural factors are not
the main variables influencing educational achievement.

Material factors, emphasised by Marxists; Smith and Noble, Blanden and
Gregg, Platt.

Pupil subcultures in school; Mac an Ghaill.

Progression to university and fear of debt; Callender and Jackson.

Low expectations and negative labelling by teachers leading to a self-
fulfilling-prophecy; Becker, Hargreaves, Rosenthal and Jacobson.

The gypsy/traveller pupils - lowest achievers and were labelled most likely to
underachieve by teachers; Gillborn.

Pressure on schools to achieve higher success rates in terms of 5+ GCSEs
grade C and above - led to a system of ‘educational triage’ - teachers ignore
pupils thought unlikely to achieve C grades; Gillborn and Youdell.
Institutional racism and sexism in schools; Vincent.

Working class girls under-achievement often ignored and therefore
continues; Archer.

Cultural and material factors go hand-in-hand; Department for Children,
Schools and Families (2009b).

The notion of cultural deprivation, rather than social variation has been
criticised; Evans.

Ideas should be compared and assessed.

Issues such as the over determinism of some theoretical perspectives and
lack of empirical evidence may be examined.

Any other relevant point.
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Band AO1 AO2 AO3
elements 1a & 1b element 1a strands 1-3
11-13 marks 5 marks 10-12 marks
Answers demonstrate detailed | Answers demonstrate Answers demonstrate
knowledge and understanding | accurate and relevant detailed, well organised
of sociological theories/ selection of appropriate and logical arguments.

4 concepts/evidence relating to | sociological theories/ Logical judgements and
the context of the concepts/evidence. These conclusions will be offered
debate/question. are applied and interpreted in | based on explicit

the context of the evaluation of the relevant
debate/question. theories/concepts/
evidence examined.
7-10 marks 3-4 marks 7-9 marks
Answers demonstrate some Answers demonstrate some Answers demonstrate
knowledge and understanding | accurate and relevant some, well organised and
of sociological theories/ selection of appropriate logical arguments.
concepts/evidence relating to | sociological theories/ Judgements and

3 . . .
the context of the concepts/evidence. Some of | conclusions offered will
debate/question. which are applied and show some evaluation of

interpreted in the context of the relevant theories/
the debate/question. concepts/evidence
examined.
4-6 marks 2 marks 4-6 marks
Answers demonstrate basic Answers demonstrate a basic | Answers demonstrate
knowledge and understanding | ability to select, apply and basic arguments.
of sociological theories/ interpret appropriate Judgements and

2 concepts/evidence relating to | sociological theories/ conclusions offered will
the context of the concepts/evidence in the show basic evaluation of
debate/question. context of the the theories/concepts/

debate/question. evidence examined.
1-3 marks 1 mark 1-3 marks
Answers demonstrate limited Answers demonstrate limited | Answers demonstrate
knowledge and understanding | ability to select and/or limited argument. Any
of sociological theories/ interpret and/or apply judgements and

1 concepts/evidence relating to | sociological theories/ conclusions offered will

the context of the
debate/question.

concepts/evidence in the
context of the

show limited evaluation of
any theories/concepts/

debate/question. evidence examined.
0 marks 0 marks 0 marks
NRSP NRSP NRSP

© WJEC CBAC Ltd.
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Sticky Note

Overall point



Sticky Note

A relevant point



Sticky Note

Relevant point



Sticky Note

The candidate was able to select three accurate points (AO1)
There is numerical interpretation of  accurate statistics, however, the interpretation is descriptive in places (AO2)



Sticky Note

5+3=8
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Sticky Note

Relevant concept: AO1



Sticky Note

Relevant study selected to support the point.



Sticky Note

Clear attempt to interpret: AO2



Sticky Note

Relevant reason, with concepts





Write the two digit question number inside

the boxes next to the first line of your answer Answer IB?:,YE ;
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Sticky Note

Relevant study selected.



Sticky Note

AO1: This question requires candidates to select two appropriate sociological explanations for the data in the item. While reason one is detailed, reason two is less so.
AO2: Interpretation of the relevance of the evidence is stronger in reason one.




Sticky Note

9+4=13



Sticky Note

Clear initial interpretation of the question.



Sticky Note

Relevant concept
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the boxes next to the first line of your answer Answer
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Sticky Note

This study was less developed.



Sticky Note

Evaluative tone demonstrated.



Sticky Note

Interpretation in addition to evaluation.





Write the two digit question number inside

the boxes next to the first line of your answer Answer If,?:r\,lf
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Sticky Note

Developed evaluation AO3



Sticky Note

Knowledge and understanding displayed.





Write the two digit question number inside

the boxes next to the first line of your answer Answer
Ysgrifennweh rif dau ddigid y cwestiwn yn y
blychau gyferbyn a llinell gyntaf eich ateb Ateb

_,,First\ he  did net  lacludd Ang easccith , ol |

J .
_&F_&muswﬁ Worlc (s H«‘oow so there (s r‘@
widend_  to Jupleat t hes  work o Fortuarmore

_J}JL"\MJMS__ELQM 1S g ot confict
Jond closs duide (a pdaschor. g T cowcchica |
eygem e gated  thot it oMepaprs  to .
vecdr o Afaie  ona equod Syskoea, olere
4 O e pr_t) _ poapls e fetght oo osqeg
d under G nohenal cCirgiceluen, Hotagore

J alt shudents  should  be eegectivlo—r  Ga

4 ofepeted  €of ke woflc _pla® . -

1T coucwde botte Kooy Hunkss frow b
_fff/(ﬂ,cﬂaﬁﬁ/(/uwﬁ/’ I cosine. |
Mlal He eaLLub e fg\ sben ﬂ(f@(‘-ﬁ'u(hf P PALS -

1 Studemts for KHs weliCploct , just in  pparche

- C(qﬁﬁiﬂéf:ﬁef_ﬁ n (Raf s~ |

10 g

Leave
blank
Gadewch
yn wag




Sticky Note

Evaluative tone



Sticky Note

AO1: The candidate demonstrates some knowledge and understanding of theory. Further detail: in particular relating to functionalist views, would be required for a top band answer.
AO2: The candidate has selected relevant studies.
AO3: Confident evaluative statements.



Sticky Note

9+4+9=22
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Sticky Note

AO3: evaluative tone



Sticky Note

Study in support, plus key concepts





Write the two digit question number inside
Leave

the boxes next to the first line of your answer '
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Sticky Note

Relevant concept, with study



Sticky Note

Evidence in support



Sticky Note

AO2: excellent focus back to the question



Sticky Note

AO3: the debate is maintained and supported with reference to relevant evidence.





Write the two digit question number inside
the boxes next to the first line of your answer Answer
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Sticky Note

The focus here is less precise



Sticky Note

Clear evaluative tone enhanced by evidence



Sticky Note

The candidate successfully attempts to articulate a judgment.





Write the two digit question number inside

the boxes next to the first line of your answer
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Sticky Note

AO1: Detailed knowledge and understanding
AO2: Some accurate and relevant selection of evidence.
AO3: Some well organised and logical arguments 



Sticky Note

11+4+9=24
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Sticky Note

Overall point AO1, some numerical interpretation





Write the two digit question number inside s

the boxes next to the first line of your answer Answer blank
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Sticky Note

Relevant point



Sticky Note

AO1: The candidate has included relevant points.
AO2: The numerical interpretation could be developed a little further for full marks.



Sticky Note

5+4=9



Sticky Note

Relevant concept



Sticky Note

Relevant study in support





Write the two digit question number inside

the boxes next to the first line of your answer Leave
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Sticky Note

Relevant supporting evidence



Sticky Note

10+4=14



Sticky Note

This question requires candidates to select appropriate explanations for the data in the item. Accurate interpretation underpins both reasons.
















SECTION B

Answer one of the following options.

Compulsory question

Option 1 Education

2. (a) Study the following item and answer both parts of question 2 (a).
Key Stage 4 achievement by Free School Meal (FSM) eligibility 2009-2016
Year Cohort: Cohort: Non-FSM | Percentage ggr:?eevr;;agleev ol
FSM eligibility eligibility achieving level 2 En IisI'?/WeIsh
2 English/Welsh 9
and Maths
and Ma_ths_l_)y by non-FSM
FSM eligibility eligibility
2009 4,966 30,729 201 521
2010 5,148 30,106 20.7 54.6
2011 5,366 28,979 22.0 55.7
2012 5,186 28,584 23.4 56.6
2013 5,705 29,449 25.8 58.5
2014 5,338 28,370 27.8 61.6
2015 5154 27,426 31.6 64.1
2016 4,837 26,495 35.6 66.8

(i)

(ii)

Source: Welsh government statistics 2016

Summarise the content of the table showing the relationship between children
eligible for free school meals and level 2 educational achievement in English/Welsh
and Maths at key stage 4.

[10]

Explain two sociological reasons for the relationship between free school meals
and educational achievement.

© WJEC CBAC Ltd.

(2200U20-1)

[15]

Turn over.

22000201

03





Either,
(b) Discuss the view that education effectively prepares young people for the workplace.
[30]
Or,
(c) Assess the impact of cultural factors on achievement in education. [30]

© WJEC CBAC Ltd. (2200U20-1)
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the boxes next to the first line of your answer Answer
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Compulsory question

3. €))

© WJEC CBAC Ltd.

Option 2 Media

Study the following item and answer both parts of question 3 (a).

(i)

Summarise the content of the graph on attitudes towards whether there is

a connection between video game violence and real life violence.

[10]

Answers should include accurate points for band 3 AO1 which should be
supported with data from the graph. For band 3 AO2 a clear
interpretation of the data should be present.

Indicative content

Expect to see reference to a range of points relating to different
generational views on whether there is a connection between video
game violence and real life violence.

The 60+ group were most likely to claim that video/computer games
can be a cause of real-world violence and aggression, 79%, while a
far lower percentage of the 18-24 group agreed, 42%. This is a 37
percentage point difference.

The 18-24 group were most likely to agree that video/computer
games can be a useful outlet for frustrations and aggression- 73%,
compared to 60% of the 25-39 group. This is a 13 percentage point
difference.

Interestingly, just under half of the 60+ group agreed that
video/computer games can be a useful outlet for frustrations and
aggression - 49%, an 11% point difference to the 25-39 group.

Just under half - 48% of the 25-39 group felt video/computer games
can be a cause of real-world violence and aggression, compared to
42% of the 18-24 group, a 6% point difference.

Points made should be supported by accurate statistics drawn from
the data.

Any other relevant point.
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Band AO1 AO2
elements la & 1b element l1a

5-6 marks 4 marks
Answers demonstrate detailed Answers demonstrate a detailed ability to
knowledge and understanding of | select, apply and interpret appropriate

3 sociological theories/ concepts/ sociological theories/ concepts/ evidence
evidence relating to the context of | in the context of the debate/question.
the debate/question. There will be appropriate use made of

the item to demonstrate understanding.

3-4 marks 2-3 marks
Answers demonstrate some Answers demonstrate some ability to

5 knowledge and understanding of | select, apply and interpret appropriate
sociological theories/ concepts/ sociological theories/ concepts/ evidence
evidence relating to the context of | in the context of the debate/question.
the debate/question. Some reference will be made to the item.
1-2 marks 1 mark
Answers demonstrate basic Answers demonstrate a basic ability to

1 knowledge and understanding of | select, apply and interpret appropriate
sociological theories/ sociological theories/ concepts/ evidence
concepts/evidence relating to the | in the context of the debate/question.
context of the debate/question.
0 marks 0 marks
NRSP NRSP

© WJEC CBAC Ltd.
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3. €)) (i) Explain two sociological reasons for the relationship between the media and
violent behaviour. [15]

There should be two sociological reasons with effective use of sociological
language (AO1 band 4). Both ways will be supported by sociological
evidence (AO2 band 4).

Indicative content
There should be two different reasons (which may be linked to the data in
the table) such as:

© WJEC CBAC Ltd.

Media effects theories - media has a powerful and immediate effect on
its audience. Audience seen as passive recipients of media messages.
Violence in the media is seen to cause real life violence and aggression
as a result of imitation of images and portrayals seen in media products
such as films, computer games and other online resources. Particular
concern - young children during their rapid period of socialisation when
they are more susceptible to the power of the media.

The hypodermic syringe model/magic bullet theory, media influence seen
as immediate and powerful and the audience is passive, unable to resist
the messages. The audience is viewed as homogeneous; Packard.
Imitation or copy-cat violence: Classic study into children’s imitation of
violent media images: Bobo Doll experiment. The effects of the media
were seen as direct and immediate. The children saw the acts of
violence towards the Bobo doll and then acted violently themselves;
Bandura.

Packard and Bandura’s views are echoed in more recent concerns about
films like Natural Born Killers and Child’s Play 3 which have been
associated with acts of violence in society. Similar concerns have been
raised about video games such as Grand Theft Auto.

The Desensitisation Effect: Children more likely to commit acts of
violence if they have been exposed to violence in the media. Prolonged
exposure to media violence may have a ‘drip drip’ effect on young
people and result in their becoming desensitised to violence — socialised
into accepting violent behaviour as normal. Young people today
therefore subscribe to weaker moral codes and are more likely to behave
in more anti-social ways than previous generations. Concern was raised
about ‘video nasties’ , following the murder of Jamie Bulger in 1993 when
it was suggested the 10 year old murders had access to violent films,
which might have influenced their behaviour: Elizabeth Newson.
Research into the effects of violent song lyrics on the attitudes and
emotions of college students indicated - clear pattern of increased
aggressive thoughts and feelings of hostility following on from listening to
violent song lyrics. The violent content appeared to be linked to violent
effects; Anderson.

Moral panics - classic study: Mods and Rockers. The media focused on
a minor scuffle between two groups of youth and through exaggerated
reporting of the event labelled the young people in a negative and
stereotyped manner - as a result seen as ‘folk devils’. The public concern
resulted in a moral panic, while the publicity ‘glamorised’ ‘the deviant
behaviour, encouraging more people to join and to in the case of
Cohen’s research, identify themselves as Mods or Rockers. The media
coverage has increased violent activities; Cohen.

Any other relevant point.
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Band AO1 AO2
elements la & 1b element la

9-10 marks 5 marks
Answers demonstrate detailed Answers demonstrate a detailed ability to
knowledge and understanding of select, apply and interpret appropriate

4 sociological theories/ concepts/ evidence | sociological theories/ concepts/ evidence in the
relating to the context of the context of the debate/question.
debate/question.
6-8 marks 3-4 marks
Answers demonstrate some knowledge Answers demonstrate some ability to select,
and understanding of sociological apply and interpret appropriate sociological

3 : ) . . ' )
theories/ concepts/ evidence relating to theories/ concepts/ evidence in the context of
the context of the debate/question. the debate/question.
3-5 marks 2 marks
Answers demonstrate basic knowledge Answers demonstrate a basic ability to select,
and understanding of sociological apply and interpret appropriate sociological

2 : . ) . ! )
theories/ concepts/evidence relating to theories/ concepts/ evidence in the context of
the context of the debate/question. the debate/question.
1-2 marks 1 mark
Answers demonstrate limited knowledge | Answers demonstrate limited ability to select

1 and understanding of sociological and/or interpret and/ or apply sociological

theories/ concepts/ evidence relating to
the context of the debate/question.

theories/ concepts/ evidence in the context of
the debate/question.

0 marks
NRSP

0 marks
NRSP

© WJEC CBAC Ltd.
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3. (b

© WJEC CBAC Ltd.

Discuss sociological explanations of media representations of females in society.
[30]

Answers will make judgements on the worth of concepts, theory, or sociological
debate. The answer will focus on the debate in the question. Credit will be given
to the effective use of supporting sociological evidence/theories and concepts.
Where answers demonstrate all abilities to the highest standard then they will be
consistent with band 4. However answers demonstrating knowledge but fewer
skills of assessment, judgement and evaluation may achieve band 4 for AO1 but
lower bands for AO2 and AO3.

Indicative content

*Candidates are likely to consider a range of explanations of media
representations of females in society and to consider the strengths and
weaknesses of the explanations.

e Candidates may refer to the media as a form of secondary socialisation that
in the 20™ century reflected cultural expectations dominated by hegemonic
definitions of femininity; Connell.

¢ They may consider - media representations of females may vary across
media products with some presenting more overtly traditional views.

e Feminists - media representations stereotype femininity into quite limited
forms of behaviour and provide role models that members of society are
encouraged to aspire to; Almy.

e Women are generally represented in a narrow range of social roles by
various types of media, while men are shown performing a full range of
social and occupational roles; Tunstall.

o Working women portrayed as unfulfilled, unattractive, and unable to sustain
relationships, also implication they are guilty of emotionally neglecting their
children while men are rarely portrayed this way; Tunstall.

e ‘Symbolic annihilation’- describes way in which women’s achievements often
not reported/condemned/ trivialised by the media, reflecting gender
inequality; Tuchman.

e Activities of women compared to men across different continents, rarely
seen as newsworthy; Gallagher; the Global Media Monitoring Project, 2005,
the Association of Women Journalists, 2000.

e Women - marginalised and given lower status than men in sports coverage,
with regular references to ‘girls’ while males are rarely referred to as ‘boys’;
Duncan and Messner.

e Magazines often organised around ‘a cult of femininity’ - promotes a
traditional ideal, where excellence is achieved through caring for others, the
family and appearance. Some movement away from stereotypes in teenage
magazines, yet still a focus on ‘looking good (for him); Ferguson.

e Girls magazines promote love and romance in a traditional patriarchal
society: McRobbie.

e Print media and advertising promote a ‘beauty ideal’ - transmit the ideological
message that women should treat their bodies as a ‘project’ in constant need
of improvement, Liberal feminist view; Wolf, Cumerbatch.

e ‘The male gaze’ - camera lens essentially ‘eyes up’ female characters,
objectifying women, even when they are reading the news: Mulvey.

o Presentation of women as ‘mannequins’, in adverts for cosmetics, healthy
products in readiness for the ‘male gaze’; Kilbourne.

e Magazines directed at teenage girls equate slimness with happiness - can
cause anxiety; Orbach.
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Alternatively, media focus on thinness may result in women feeling bigger
than they already feel themselves to be; Hamilton and Waller.

Teen magazine - 35% of 6-12 year olds have been on at least one diet and
at least 50% of girls thought they were overweight: Tebble.

In societies where there is no established media - no culture of thinness, but
where there is a growth of Western style media, the position is more
negative; Becker.

Radical feminists describe the portrayal of women in pornographic media as
an extreme example of patriarchal control, Dworkin.

Females still portrayed as passive in popular music lyrics and sex objects in
music videos.

Continued influence of traditional stereotypical portrayals of women in re-
cycled programmes on satellite and cable TV networks.

Soap operas portray women in a more positive way than advertising, yet,
ultimately conform to hegemonic definitions of femininity; the strong women
rarely have successful careers; Fiske.

New media bloggers continue to represent idealised images of femininity and
the successful bloggers might be offered sponsorships with leading beauty
industry companies; the influence of Capitalism and the pursuit of profit is
rarely far behind fashion trends and the messengers; Marxist feminists.

A 2013 attitudes survey by the Guide Association finding that 87% of girls
aged 11-21 believe women are judged more on their appearance than their
ability.

To evaluate, candidates may refer to changes in the way females are
represented, which might reflect the major economic and social changes that
have occurred in education and employment.

Sociological analysis of media representations of females needs to be
cautious - postmodern writers, because of the sheer diversity of media in the
UK, from audio visual, written and new media; Gauntlett.

Media audiences widely diverse; therefore cannot assume the ideological
messages transmitted reflect similar perspectives on gender. Media
messages and representations of females likely to be contradictory;
Gauntlett, Gill.

Ferguson’s ideas challenged - women’s magazines generally play a
supportive and positive role in the lives of women. Also present women with
a broader range of options and tackle issues such as domestic abuse;
Winship.

The ‘genderquake’ resulted in a fundamental change in women’s attitudes
regarding education and a career reflected in new representations of women
in series such as Sex in the City. A ‘transgressive’ programming is occurring
that goes beyond traditional gendered representations: Westwood.

Liberal feminists celebrate positive changes, e.g. stronger roles for women
and girls in TV dramas and films such as Tracy Beaker.

Improvements in visibility of women in prime-time television programmes and
some movement away from traditional stereotypes in teenage girls’
magazines.

They may consider how far media representations mirror or create feminine
identities and how individuals can resist them; interpretivists.

New social media - women can choose their presentation of self at least
within the context of cyber-reality; Haraway.

Ideas should be compared and evaluated with reference to supporting
evidence.

Any other relevant point.
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knowledge and understanding | accurate and relevant detailed, well organised
of sociological theories/ selection of appropriate and logical arguments.

4 concepts/evidence relating to | sociological theories/ Logical judgements and
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the context of the evaluation of the relevant
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concepts/evidence relating to | sociological theories/ Judgements and

3 , . .
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debate/question. which are applied and show some evaluation of
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Assess Marxist views on the social construction of the news. [30]

Indicative content

Definitions of social construction in relation to the news.

Candidates may distinguish between the Traditional Marxist and Neo-Marxist
views

Marxists - social construction of the news assists in the maintenance of the
status quo.

Traditional Marxism: the social construction of the news is a deliberate
attempt at manipulation, the news transmits ruling class ideology, the ‘new
opium of the people’ the focus is on owners; Miliband, Edwards and
Cromwell.

Neo-Marxism: the social construction of the news is a form of hegemony.
The news is supportive of capitalist interests because those in powerful
positions have better access to media institutions than the less powerful: the
hierarchy of credibility; Hall.

News is a product of the social background of journalists and editors, who
are usually white, male and middle class. They do not question society and
so unconsciously side with the powerful; The Glasgow University Media
Group.

The media engage in agenda setting, so that people think about issues in a
way that benefits the ruling class. Issues such as the causes of inequality
become marginalised; GUMG.

Recent media focus on refugees and asylum seekers has been stereotypical
and ‘inaccurate’, with negative consequences for refugees, asylum seekers
and established migrant communities reflecting the concerns of political
leaders and; Philo.

To evaluate, candidates may consider the view that the ideological
underpinnings of Marxism, have been described as conspiratorial.

They may consider alternative views from the Pluralists who maintain the
news reflects reality; it is a ‘window on the world’.

Pluralists claim Marxists' ignore increase in media professionals from a wide
range of backgrounds who bring different perspectives to news media.
Pluralists - the self-regulation that operates within the media profession is
evidence of its integrity and trustworthiness, e.g. the News International
phone-hacking scandal led to the closure of the News of the World in 2011.
The media as the Forth Estate protecting democracy and freedom; Williams.
The media does not always act in the interests of the powerful; Schlesinger.
Postmodern views - individuals now able to use digital communication
technology to express their views.

Feminists accuse Marxists of ignoring patriarchy in news production, with
Marxist feminists claiming that the news reflects both capitalist and
patriarchal ideology; Wolf.

The evidence on which the theories are based has been questioned.

Ideas should be compared and assessed with reference to supporting
evidence.

Any other relevant point.
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the context of the evaluation of the relevant
debate/question. theories/concepts/
evidence examined.
7-10 marks 3-4 marks 7-9 marks
Answers demonstrate some Answers demonstrate some | Answers demonstrate
knowledge and understanding | accurate and relevant some, well organised and
of sociological theories/ selection of appropriate logical arguments.
concepts/evidence relating to | sociological theories/ Judgements and

3 : . .
the context of the concepts/evidence. Some of | conclusions offered will
debate/question. which are applied and show some evaluation of
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of sociological theories/ interpret and/or apply judgements and
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Relevant interpretation



Sticky Note

Relevant interpretation
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Sticky Note

(AO1) This is a clear and accurate answer which includes points that are supported with reference to some of the statistics in the item (AO2)
The numerical interpretation could be developed  further for full marks.
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6+3=9



Sticky Note

Candidate includes supporting evidence.
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Relevant concept



Sticky Note

Reference to study in support of idea
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Sticky Note

Some conjecture



Sticky Note

This question requires candidates to select appropriate sociological explanations for the data in the item.
Accurate interpretation underpins reason one, alongside accurate knowledge.
Reason two is slightly less accurate.
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9+5=14



Sticky Note

Relevant reference to key writers
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Sticky Note

AO2: interpretation



Sticky Note

Relevant example
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Relevant concept



Sticky Note

Relevant study
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Sticky Note

The candidate could avoid juxtaposition by using connectives such as 'however', 'on the other hand'...
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Relevant concept and studies
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Less developed example
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Focused evaluative comment AO3
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Juxtaposed evaluation
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AO1: The candidate includes a range of knowledge and understanding. However, there is a missed opportunity to clearly differentiate between traditional and neo-Marxism.
AO2: The candidate accurately selects relevant studies.
AO3: The evaluation tends to be juxtaposed rather than sustained.
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10+4+7=21






















Option 2 Media
Compulsory question

3. (a) Study the following item and answer both parts of question 3 (a).

Attitudes towards whether video/computer games lead to violence

The Generation Gap

B Agree [T Disagree
90 90

‘Video/computer games can ‘Video/computer games can
be a cause of real-world be a useful outlet for
violence and aggression.’ frustrations and aggression.’

Percentage

18-24 25-39 40-59 60+ 1824 25-39 40-59 60+
Age Age

Source: You Gov 2013

(i) Summarise the content of the graph on attitudes towards whether there is a

connection between video game violence and real life violence. [10]
(i) Explain two sociological reasons for the relationship between the media and violent
behaviour. [15]
Either,
(b) Discuss sociological explanations of media representations of females. [30]
Or,
(c) Assess Marxist views on the social construction of the news. [30]
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